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T 2 2022 0f|+(A) 2023 6| +k(B) SZ(B-A) T+ 2 2022 o 2H(A) 2023 0| 2(B) SZ(B-A)
g A 15,774 5,140 ~10,634 g A 15,774 5,140 ~10,634
o2 5,000 5,000 - SN 3,929 - A3,929
o8& 10,474 - A10,474 HolMAFALY 9,744 5,000 A4,744
(SR 300 140 A160 BXE 2,100 140 A1,960
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g A 15,774 5,140 A10,634
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611 HolMa (FHEF) 5,000 5,000 -
070 € & 10,474 - A10,474
710 € & 10,474 - A10,474
711 geldggolgda 4,744 - A4,744
7R KBz Ro|EE 3,929 23,929
713 ¥golga 1,800 1,800
08 &+ ¢ 300 140 A160
81 &+ ¢ 300 140 A160
811 7|Et0l = O] At=¢ 40 40 1
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B2 HoIM 9,744 5,000 N4,744
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132 g H 1,929 1,929 -
131 #=8H|Ax=xE 274 274 -
132 3383 480 480 -
133 HAMS2t= 1,124 1,124 -
134 X & H 50 50 -
03 A & H 7,816 3,071 N4,744
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